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558 560 565
557 563 567
555 564 564
EXN 5 5 5 15
Al 2780 2810 2830 8420
SE4 556 562 566 561.33
S EE 2.5 25 2.5

-




J 1h1513.tpf-24 5/14/2002 14:00:37 L

(D= EEN T2 A X B E-13-4-2 BAnH L ER eSS T
{8 2 561.33 o

Q) S FEHEFATRE G 8 A (X, — X)) > TR E-13-4-2 1850 > 4 FEHEIVRL
JEALET{E & (556 — 561.33)=—5.33 » B REAYRE(LE{E /5(562 — 561.33)
=0.67 » CFREATHIEET{E Ly (566 — 561.33)=4.67 -

(3PAa ~ up ~ ucFom A ~ B~ C =ZREHEAV AR » FrDAAERY Ho )2 Hy %y

Hy ' puq=pp=pc
H, * Hy AN Rplar
305 _
SST= X X (x; — X..)?=283.33

j=1i=1

3 —
SSB= % 5(X, — X.)?=253.33
j=1

35 _
SSW= 2> Z(XU_XJ)ZI?)O

j=li=1
{ FFFLL > ARREAY ANOVA F4015% E-13-4-3 Fims %
Z E-13-4-3
438 | eHfl | GiE | E5R | FE
4HRS 253.33 2 126.67 50.67
ZEW 30 12 2.5
4E= 283.33 14

a=0.05 > Foos(2,12)=3.89 - AU (EfRE I HELE I A

[msB | MsB
R=\Msw MSW>3'89]
MSB

2 E-13-4-3 19461 » B 10D = 50.67>3.89 + LA EG4H R A IRABH, -
BET A~ B~ C SRR AR R 2405 -

W il !
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13.5 WM AR = AE E 2 79 0y O A R0 sk Al R An R B-13-5-1 F R e

= E-13-5-1
1 2 3
0.13 0.18 0.33
0.09 0.2 0.32
0.11 0.17 0.34
0.16 0.14 0.37
0.12 0.16 0.38

(D5 = E XA 5 Lk FERE(E -
@7 & E XA A R E R E(E -
BEa=005T e E=BEXNFHENZEEME -

ASEIY R R AR E-13-5-2 Fr

B

&= E-13-5-2
1 2 3

0.13 0.18 0.33

0.09 0.2 0.32

0.11 0.17 0.34

0.16 0.14 0.37

0.12 0.16 0.38
A 5 5 5 15

il 0.61 0.85 1.74 32

S 0.122 0.17 0.348 0.213
gEE | 0.00067 0.0005 0.00067

-

(D =FHEESE R LV FERUEMSE TR A X HERER E-13-5-2 (540 H I
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G E(E Ay 0.213 -
()55 FE SEAE TR R LOREE A (X, — X.) > eBslER E-13-52 1550 E¥ 1
HIEF R E(E £5(0.122 — 0.213) = — 0.091 » FEE 2 BYEFRAVBUEE S
(0.17 = 0.213)=—0.043 » FEZE 3 IYEF 2R E(E £(0.348 — 0.213)=0.135 -
(A1 ~ pa ~ RS = ESRHEITIER]ER -
Hy * i =p=us
H, © Hy~NRROT
SST= 3 3 (x; — X, =0.149

j=li=1

3 —
SSB= X 5(X,, - X.)?=0.142
j=1

35 N
SSW= 5 3 (x; — X,)*=0.007
j=li=1

% FLURRE) ANOVA R41% E-13-5-3 Fi7r %
= E-13-5-3
AR | YRR | BEE | PRI | FE
4 F 0.142 2 0.071 115.58
ZHN 0.007 12 0.0006
szt 0.149 14

a=0.05 > Foos(2,12)=3.89 - FRLUS{ERRERHELRIS R 5y

“rap > 3-89

_ |MSB
k= [ MSE

MSB
MSE

P E-13-5-3 19401 » Bl Mas = 115,58 >3.89 + FLURIEAET AIE4E Hy -

RN EFRIVIERRE TEE A 2

W il !
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136 LIBHTHRFTUBE =M ENEAMBIBRRE  FRENNERE (BEf s
NIT /T NR) & Ak E-13-6-1 ok o

[

% E-13-6-1
ME— ME— ME=
1200 1380 1270
1300 1140 1370
1260 1290 1320
1500 1450 1520
1660 1350 1550
1440 1210

O =M EATE G iR E(E -
Qs BN A TR E E e -
BEa=005T R E=—BHAFIRARRTZZEHF

AEH AR AR E-13-6-2 FR -

% E-13-6-2
ME— | MEZ | ME=
1200 1380 1270
1300 1140 1370
1260 1290 1320
1500 1450 1520
1660 1350 1550
1440 1210
BEAE 6 5 6 17
! 8360 6610 8240 23210
Py 1393.3 1322 1373.3 1365.3
5 B 29706 13670 18586
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(D =R EAED SRR AL ERUE SR & A X hslE R E-13-6-2 1341 -
SE[EIE (S T{E A 1365.3 -
QS EHREEAfEE TR (X, - X.) » HstER E-13-6-2 {341 - #E
FY PR RUTE £5(1393.3 — 1365.3)=28 » #4/E Ay HLEESE £3(1322 — 1365.3)

=—43.3 > ME =aVPIERRIE £(1373.3 — 1365.3) =8 -
QLA ~ po >y =T E AVHT RS

Hy *n=pm=us
S Ho AT
SST=3 Z(x,, X.)?=310623
j=1li=
SSB —}’ll(Xl - )2+}’12(X2 —)_(..)24—173(7(.3 —X.)ZZ 14476

SSW = ZZ(x,j X,)?=296147

j=1li=
{ FTLAAERY ANOVA =415 E-13-6-3 FR %
2 E-13-6-3

A PR SIS Pyt F{E

4HRH 14476 2 7238.4 0.34
4HN 296147 14 21153.3
4EET 310623 16

a=0.05 > Foos(2,14)=3.74 - FrLUEEfgEIVERER R &y

MSB
MSW

_[msB
R= ‘MSW

>3.74]

% E-13-63 (341 » M {l om0 —034<3.74 » Ff LUKIE S5 R4

W il !
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Hy » 3EFRiE =R E s e DT B SR e S E A 5 -

13.7 BEHEHFx=utatfite;i=1,,6 j=1,2,3 HARE %k BE-13-7-1 fiR

= E-13-7-1
7 i}
1 2 3
1 15 15 18
) 14 14 14
3 10 11 15
4 13 12 17
=
=l 16 13 16
6 13 13 13

Qu i fbstE -
@) o, B A ETE
By st e
@) #Fx3n L) KR -
(G):t & ANOVA % -
6)f 5T 3R £ THey B R H o” -
% .
AR EFRAFE E-13-7-2 R o
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Z BE-13-7-2
B B

Ty T HAE | dR | el
1 15 15 18 3 48 16
&2 14 14 14 3 42 14
3 10 11 15 3 36 12
4 13 12 17 3 42 14
| 5 16 13 16 3 45 15
6 13 13 13 3 39 13

AR 6 6 6 18

4y 81 78 93 252

s | 13.5 13 15.5 14

(DX 2 0 i o B8 B-13-7-2 (30 B HE 2 14 -
@ B (9522 — X R(X, — X.) » Eae B-13-7-2 159411 »

o FIfEETE A(16 — 14)=2

o YEEHE A5(14 — 14)=0
osIfEETHE A(12 — 14)=—2
oufIfdiEHE 25(14 — 14)=0
osHIEETE B(15 — 14)=1

ot EEHE A(13 — 14)=—1
A (13.5 — 14)=—= 0.5
ot diE B 25(13 — 14)=— 1
Bt fEETHE B5(15.5 — 14)=1.5

Bx;=14+(X,. — 1)+ (X, — 14) + (x; — X;. — X+ 14)

(4)X32:14+(Xv3~ - 14)+(X2_ 14)+(X32—)_(3. —Xz‘f' 14)
=14+(12—-14)+(13—-14)+(11—-12—-13+14)

FLA
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11=14+(=2)+(—1)+(0)

6 3 _
(5)8ST= 3 X (x; — X.2=70

i=1j=1
6 _
SSBL=3 > (X;. — X..)*=30
i=1
3 _
SSTR=6 X (X.j—X..)2=21
j=1

6 3 _ _ —
SSE= 3 3 (x;— X;. — X, + X.)?=19

i=1j=1

T LA ANOVA F24115 E-13-7-3 s -

# E-13-7-3
AR P HEHE | 395R F1ig
PR 21 2 10.5 5.53
S 30 5 6 3.16
v 19 10 1.9
dEt 70 17

6) o* BYfdiEH{E 2 MSE=1.9 -

Bl R =X FREARFTFNELE R BRI 2 A AR R IFE &
TER MMAERFEAXFRERKRNEE R ONEF) X B-13-8-1 Fix -

< E-13-8-1
AR EN
1 2 3
! 16 16 24
£l 2 19 17 22
|3 14 13 19
3
| 4 13 12 18
5 18 17 22
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(D58 = SCF R R A 28 B Bl L 6 K 7 %€ -
QO & XF REARASL E B LR EE -
ot 4R 1F R A8 e R L AT IE £ o) TR BURME -
WDEa=005T ME=BXFRERARELERM LT EHLE > UHREHREL
BAFRe VB H R LR AE -
B
AEAEAEFRAIZR E-13-8-2 FR

Z B-13-8-2
PR | am | wi | mem
1 16 16 24 3 56 18.66667
= 2 19 17 22 3 58 19.33333
<‘ 3 14 13 19 3 46 15.33333 %
% 4 13 12 18 3 43 14.33333
18 17 22 3 57 19
= TN 5 5 5 15
QAR 80 75 105 260
P16 15 21 17.33333

(DX.. R SR EREE & - e E-13-8-2 fRHIHAfEH{E 4 17.3
O =TI AT LOTRUE (5) B9fsHES (X, —X.) - Fibl
S R A B R (16 — 17.3)=— 1.3
A 2 TR B R (15 — 17.3) = — 23
o RS T T S A ER B A Ry (21 — 17.3)=3.7
(GVR(T B e VB LOSUE (o) B9REEFR A (K. —X.) - Fld
F BB RV EREGEHMEA(18.7 - 173)=14
BB E RRVEESUEEEHE (193 - 17.3)=2

W il !
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FHoEEERE RV ENE G HE (153 - 17.3)=-2
FIUE LR E ARV E SR HE (143 - 17.3)= -3
FHEELRERSEEREMEHEA(19 - 173)=1.7

5 3 _
4)SST= X X (x; — X..)*=175.33

i=1j=1
5 _
SSBL=3>(X;. — X..)*=64.67
i=1
3 _ _
SSTR=SZ(X.J»—X..)2=103.33
j=1

53 _
SSE= 32 X (x;— X;. — X,;+X..)?=7.33

i=1j=1

FTLL > AEERY ANOVA R4 E-13-8-3 AR

7 E-13-8-3
AR S H & H A Fig
% AL 103.33 2 51.67 56.36 %
B 64.67 4 16.17 17.64
R 7.33 8 0.92
dast 175.33 14

LAB T S B ERE G FETE - DL oy TR E B HVELE ARG E

Hy : pi=p=p3=0
H, : Hy R T

a=0.05 > Foos(2,8)=4.46 - FrLUS {EIRENHEL R £

MSTR
MSE

MSTR

R= MSE

>4.46J

P - MSTR T ; -
% E-13-8-3 1401 b (i o = 56.36> 446 + FLURELE B A EEH,

W il !
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BT T SRR B A R 2R -

HO . a1:a2:a3:a4:a5:0

H, * Hy A plaT
a=0.05 > Fy05(4,8)=3.84 » FrLUE @ g E(EAVIELEL R 2

MSBL
MSE

_ |[MSBL
R= [ MSE

>3.84]

7 E-13-8-3 15341 - fﬁfﬁﬁ%ﬂl@ﬁm A T AR, -

SR BB I HEE TR B A <

13.9 HE Tt put ot B+ (o) ten 0 i=1,2,3 j=1,2,3 k=1,2 A%
% E‘13‘9‘1 ﬁﬁﬂ’i o

{ Z< E-13-9-1 %

B T
1 2 3

500 540 480

4 1 580 460 400
5 460 560 420
540 620 480

¥ 560 600 480
’ 600 580 410

Mp ey fEEHE -
Q@)a;, p;1 i 5HE
B)ap)y st {E -
@A) 5150
(5)x31 LA4) 3% 7 ©
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(6)3t 5 ANOVA % -

(D fh ey ] % R WL

&
AEHARRAIR E-13-9-2 AR -

% E-13-9-2
B ¥ o
1 3 3 =N (Y| S
500 540 480
1 580 460 400
540 500 440 6 2960 | 493.3333
4 460 560 420
2 540 620 480
T 500 590 450 6 3080 | 513.3333
560 600 480
3 600 580 410
580 590 445 6 3230 | 538.3333
EFN 6 6 6 18
4EF 3240 3360 2670 9270
SEEGEE | 540 560 445 515

(DX... By p 09f55HE > FHZ2 B-13-9-2 41 HE & 515 -
(o B 098 53 B 2K — XD R (X — X...) » E3% B-13-9-2 1541 »
o BEE{E 55(493.3 — 515)=—21.7
ol HE /(5133 = 515)= — 1.7
o EEHE /(538.3 — 515)=23.3
PGB 25(540 — 515) =25
Pt fEET{E (560 — 515)=45
Bt IfdaT{E 25(445 — 515)=— 70

W il
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o) iIfdaT B Xy — X — X, +X..) > HHFE E-13-9-2 1540

(of)FY i TE (540 — 540 — 493.3+515)=21.7
(of) 1 EH{E B5(500 — 560 — 493.3+515)=—38.3
(of) 3 TE (440 — 445 — 493.3+515)=16.7
(of)o B ETE B5(500 — 540 — 513.3+515)=—38.3
(o) ETHE (590 — 560 — 513.3+515)=31.7
(o) fdET{E 25(450 — 445 — 513.3+515)=6.7
(o)1 FY T E B5(580 — 540 — 538.3+515)=16.7
(o) 52l TE (590 — 540 — 538.3+515)=26.7
(of)s3 I ETE B5(445 — 445 — 538+ 515)=— 23

@xpe 09 5 5 X Bxp=Xo+ . - X )+ X - X )+ X — X — X+ X))
+ (e — X)) BT DA & el =Rk

{ Xjp=515+(X,.. — 515)+ (X;;. — 515)+ (X — X;.. — X+ 515) + (v — X;.) %

(5)X231:515+(X/2.. - 515)+()_(3 - 515)+()_(23 _yz.. —23.+515)+(XZ31 —5(23.)
Ffr A
420=515+(513.3 — 515)+ (445 — 515)+ (450 — 513.3 — 445+ 515) + (420 — 450)
=515+(—1.7)+(—=70)+(6.7)+(— 30)
3
(6)SST= X
i=1j

3 _
SSA=6>(X;..— X...)>’=6100
i=1

32 N
S 3 (xje — X... 2 =82450
=1lk=1

3
SSB=6 2 (X.j. —X...>=45300
=1

3 3 _ _ _
SSAB=23 3 (X;. — X;.. — X, + X.. = 11200
i=1j=1
3 3 j2 _
1

i=1j=1lk=

FTLIAGERY ANOVA A7 E-13-9-3 AR ©

W il !
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1

7 E-13-9-3

R I HEHE H 5 F{H
ART 6100 2 3050 1.38
BRT 45300 2 26650 10.27
ZEMER | 11200 4 2800 1.27

Eo 19850 9 2205.6

dast 82450 17

(7) e W2 B8 o B 5 H{E A MSE=2205.6 -

1310 DIBHETRARTEMEMB EWER A HEMREENPE > HFPEF—F 3
R > f 0 3R BT A3 EERE  RUNAEELR
RN EMBARE A - FH#E Ak E-13-10-1 Fi

&= E-13-10-1
TE R & —

1 2 3
23 44 28
1 24 45 29
25 46 30
i 25 42 27
E 2 26 46 28
. 27 50 29
24 41 26
3 26 45 28
28 49 30

(D =1 EARA AR B L R 21

@ = d fr — 78 MBI £ o B AE -
Q) =1 iy — 78 FARMORE £ o BUEAE -
() 3 T o 7 X LA AR AR SR -

W il !
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GEa=005T el — BA-KWERHRAERNRLFAZEHE -

ﬁg .
AEOERE A E-13-10-2 Fior »
= E-13-10-2
R
1 5 3 BEARE | 48R0 S
23 44 28
24 45 29
1 25 46 30

24 45 29 9 294 | 32.66667

=, 25 42 27
26 46 28

R 2 27 50 29

{ - 26 46 28 9 300 | 33.33333 %
24 41 26
26 45 28
3 28 49 30

26 45 28 9 297 33

e 9 9 9 27

| 228 408 255 891

Sy | 2533333 | 45.33333 | 28.33333 33

(DX... 2 FHERCRILEREN st E > B E-13-10-2 A1 (E 2 33
(@)t R — 3 FRREHEE TSR AT 5 (X — X...) » (HFRE-13-10-2
(Sol!
dm 7 55 1 TSR SR AU 7(32.67 — 33) = — 0.33
d 7 56 2 T RS AR AU (% (33.33 — 33)=0.33
fu 5 3 TERARE A SR OTRUE(E 25 (33 — 33)=0

W il !
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(3t H — 3 TEMREAE AR RO (st & 5 (X, — X...) » (HFRE-13-10-2
(Sol!
dl7 5 1 TR AR AR (A /5 (25.33 — 33) = — 7.67
d A 5B 2 Tl RGN B (E /(45,33 — 33)=12.33
fl EE 3 TR AR A TE(E #(28.33 — 33) = — 4.67
(AR F 2 HAF FIAE M ERCRA (S E HE A( X . — X — X+ X)) o
FH= E-13-10-2 1541
a5 RS 5B | NS B (R THEL Ay
(24 —25.33 —32.67+33)=—1
55 | RS R 5B 2 A G A HE
(45 — 45.33 — 32.67+33)=0
fua 58 | RS R 56 3 WS B e (SR THEL Ay

(29 —28.33 —32.67+33)=1

{ fiR 58 2 R R R 58 | RS B A HE Ry %
(26 —25.33 —33.33+33)=0.34
fi R 5 2 MR R R 5 2 A B A HE
(46 —45.33 —33.33+33)=0.34
fi R 58 2 R RO 58 3 A B AR A HEL A
(28 —28.33 — 33.33+33)=—0.66
iR 5 3 MR R R 5 | A B A
(26 —25.33 —33+33)=0.67
AR 50 3 MR R R 58 2 IR A A A HE Y
(45 —45.33 —33+33)=—0.33
AR 58 3 R R R 56 3 A B AR HEL By
(28 —28.33+33 —33)=—0.33

33 2 _
(5)8ST=3 2 5 (xj — X..»=2196

i=1lj=1k=1

3 _
SSA=93(X,..— X..)*=2
i=1
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SSE= 3 3 3 (X, =90

i=lj=1k=1

FTLIARRERT ANOVA L4172 E-13-10-3 AR -

2% E-13-10-3
AR S HEHE H A F{H
e 2 2 1 0.2
- 2094 2 1047 209.4
L EAER 10 4 2.5 0.5
B 90 18 5
dast 2196 26

Llai ~ B ~ (af)or It a — ~ d R Z RECE U

H() : 0[1:0!2:063:0

H, @ HyREYIL

a=0.05 > Foos(2,18)=3.55 > ArLUEERRERHELRIS R 5y

MSA

R=\MSE

MSA
MSE >3, 55]

122 E-13-103 1301 » ME(E Mrom=0.2<3.55 « Fi U4 A FAEAEH) -

BN R — 3 TR AR CRA R B R

Hy * p1=p=p3=0
H, : Hy N RRIT
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a=0.05 > Foos(2,18)=3.55 » ALl {ERRE RS R

MSB>3.55]

MSE

[msB
R= ! MSE

; - MSB NTI ; - L
R E-13-10-3 401 IR H N =209.4> 3.55 « FTLAMRTEAE R AIEAREH, - 18

TR 3 TR ERICSCRA B AR E AR

Hy: (aB);=0 i=1,2,3 j=1,2,3
H, : Hy A RpRar

a=0.05 > Foos(4,18)=2.93 > FrLUS{ERRERHELRI R 5y

MSAB
MSE

MSAB

R= MSE

>2.93]

{ i E-13-10-3 13401 hne (i Moe B =0.5<2.93 « FrbLbinit 65 R 2y A A8H, %
R — RfoH R A SR L SRR A AR T
THE -
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